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ANSWER ALL QUESTIONS
PART—A (10%x2=20 marks)

Determine the period of the signal x(n)= 2cos(nn/4).
Give the properties of an impulse function.

State the time reversal and time scaling property of fourier
series.

Determine the LT of x(t)= t2sint.
Realize the cascade form H(s) = (s(s+2)) / (s+1)(s+3)(s+4).

Find  the impulse response of  the system
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A signal x(t)=20 sinc(180nt) is sampled at a rate of 200Hz.Is
it possible to recover the signal x(t) from the sampled signal.

Write the difference in frequency property of Z transform.

Determine the DTFT for the difference equation x[n}= y[n] —
yIn-1]




[image: image2.png]10. What is the response of an LTI system with impulse
response h(n)=5(n)+48(n-1)+25(n-2) for the input x(n) =
{1,3,5}.

PART—B (5x16=80 marks)

11. (@ (@ Classify whether the signal is periodic or (8)
aperiodic .If periodic identify the period.
(a) f(t) = cos((2n/3)t)+ 3 sin((2n/4)t)
(b) x(t) = 2cos(3nt — (n/3)) — sin (2nt)
(i) Determine the value of power and energy of (8)
the signals
() x(n) = g mHriE)
(b) x(n) = (1/2)pu(n}

Or

(b) Consider the following system and determine if
the system is linear or not.

W) (@) yit) =cos nt + x(t-4) 8)
(b) y(n)= v(n-D+x(n)

(i) y(n) = [x(n) - x(m-D)? is time invariant or )
not

(i) y(n) = x(n) + (1/(x(n-2)) is causal or not @)
12. (@ () Using the properties of continuous time (10)
Fourier transform, determine the time

domain signal x(t), if the frequency domain
signal
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State and prove the Parseval's relation of
Fourier series

Or

Find the Fourier Transform of the signal
sgn(t).

Using the property of Laplace transform
determine y(2) = xy(1) * x:(t) where

xit) = etu(t) and xuft) = ufi-2).

Find the transfer function of the system

which is represented in state space
representation.

Gal=1% Al Bho
V= boufy]
Realize the system in direct form I
H(s) = (s+1) / (s*+6s+10)

Or

Using Laplace transform determine the
output of the system y(t), when x(t) =
sindtu(t) and h(t) = cos6tu(t)

Determine the impulse response of the
differential equation
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€ initig) value of the transform
X(z) = z(z-l)/((z~2) (z-3)

(b) Find the fina} value of the transform
X(@) = (-2)((z-1) (2-3))
Or
Find the inverse Z-transform of
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) Obtain the direct form 11 » cascade apg Paralle] (16)
realization foy
y(n)=~0.1y(n~I)+O.2y(n-2)+3x(n)+3,6x(n-1)+0.6x(n-2)
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